Date:- 30.10.2023 Time : 03hr. Marks : 100

WRITTEN TEST FOR JE (PW) LEVEL-6 ON COMPASSIONATE GROUND IN
ENGINEERING

Question paper comprises two parts. Part-1 Objective Questions 25 number each of 02 marks and
Part-II Subjective questions 10 number each of 05 marks. All Questions are compulsory.

All the unused pages of answer book at the end of examination should be crossed.

Mobiles / Pager /calculator etc. are not allowed in the examination hall, otherwise candidate will be
debarred from the examination.

Candidate should use only blue or black pen for writing the exam.

Answers should be written in any one language either in Hindi or English.

In case of any ambiguity, English version of question paper should be taken as Authentic.
In the answers to objective type questions, no corrections of any type are permitted.

Except answers nothing should be written in answer sheet.

QD

Q2)

Q3)

Q4)

Part-1 :- Objective Type
(each question carried 02 marks)

On which day, * Engineers day' is celebrated?

A) 07 September B) 15 September C) 21 September D} 29 September

Match the following -

a) ‘Make In India’ i) 2014
b) Pradhan Mantri Jan-Arogya Yojana |10)2020
¢) Khadi Agarbatti Aatmanirbhar Mission ii)2018

A) a) 21 b)2iiic) =il

B) a) 2 ii b)2iiic) 2i

C) a) =2 iii b) 21ii c) =i

B) a)=> 1 b)=>ii ¢) >iii

Which of the neighboring countries share longest border with India-

A) China B) Bangladesh C) Pakistan D) Afghanistan

”Swachha Bharat Abhiyan was launched to fulfil vision of cleaner India as a tribute to
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Mahatma Gandhi on his birth anniversary.
A) 100 B) 125™ C) 145" D) 150™

Q35 Sahitya Academy Award 2019 has been conferred to Shri Shashi Tharoor former external
affairs Minister for his book-
A) Great Indian Novel.
B) India Shastra.
C) An Era of Darkness.
D) India from midnight to the millennium and beyond.

Q6) To turn over a new leaf.

A) To change completely one's course of action.

B} To shift attention to new problems after having studied the old ones thoroughly.
C) To cover up one's fault by wearing new marks.

D) Ta change the old habits and adopt new ones.

Q7} Aladder 15 metres long just reaches the top of a vertical wall. If the ladder makes an angle
of 60° with the wall, then the height of the wall will be-

A) 10.0 m B)7.5 m C}12.0m D)15.0 m

(Q8) Match the following -

a) Barometer i) Very Low pressure

b) Piezometer ii) Pressure difference P between two points
¢) Manometer ili) Atmospheric Pressure

d) Differential Manometer iv) Pressure in water channel

A) a)=2iii by=2iv ¢)=2>i d)ii
B)ay=>i b)=2ii c)=2iv d)ii
C)a2iii b)=2ii  ¢)=2iv d)i
B)a)=2ii b)=2iii c¢)-2iv d)i
Q9) For the best hydraulic rectangular section, the ratio of width to depth of flow is
A)?2 B)3 O 4 D)5
Q 10) Gypsum used in cement manufacturing acts as-
A) accelerator B) air entraining agent C) Plasticizer D) retarder

Q 11) The characteristic compressive strength of M20 grade of concrete is

A)10 N/'mm? B) 15 N/mm? C) 20 N/mm* D) 25 N/mm?
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Q 12)

Q13)

Q14

Q15)

Q16)

Q17)

Q18)

Q19)

Q20)

Q21)

(207

Solve the linear equation (1) 2x-y=2 (2) x+3y=15

A) X=4 Y=3 B)X=3 Y=5 CO)X=5 Y=3 D)X=3 Y=4

Find the odd activity out

A) Talking B) Walking C) Sleeping D) Running

M is the son of P. Q is the granddaughter of O who is the husband of P. How is M related to
0?

A) Son B) Daughter C) Mother D) Father

The First Train in India ran on

A) 16.4.53 B) 16.04.55 C) 16.04.63 D) None of the above
The second law of motion gives us a measure of which of the following physical quantities
A) Acceleration B) Power C)Force D) Work done

A Pendulum Clock, whose pendulum is made up of a steel rod, will become slow if

A) Temperature rises

B) Taken to moon

C) Taken from equator to pole
D) AandB

Who is known “The iron man of India”

A) Shri Sardar Vallabhai Patel
B)Shri M K Gandhi

C) Shri Morarji Desai
D)None of the above

Who has chaired the 13 BRICS Summit?

A) Shri Xi Jinping

B) Shri Narendra Modi

C) Shri Vladimir Putin

D)Shri Cyril Ramaphosa

The Price of 5.5 dozen pens is Rs 1287. What is the price of 16 such pens?
A) 212 B) 296 ) 312 D) 412

The radii of the top and bottom of a bucket of slant height 45 cm are 28 cmand 7 cm
respectively. The curve surface is of the bucket is-
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Q22)

Q23)

Q24)

Q 25)

A) 49505q. cm B} 4940 sq. cm C) 4930sqg. cm D} 4920 sq. ¢cm

If the length of the shadow of a tower is increasing, then the angle of elevation of the sun
A) Have no relationship B) is decreasing C) Is increasing D) None of the above

The body weight of Seven students of a class is recorded as 54 Kg.,78 kg., 43 kg. 82 kg., 67
Kg., 42 Kg. and 75 Kg. What is the average body weight of all the seven?

A) 63 Kg. B) 69 Kg. C) 71Kg. D) 73 Kg.
“Hobson's choice’.
A) Feeling of insecurity
B) Accept or ieave the offer
C) Feeling of strength

D) Excellent choice

‘To take the bull by the horns’.

A) To punish a person severely for his arrogance.

B) To grapple courageously with a difficulty that lies in our way.
C) To handle it by a fierce attack.

D) To bypass the legal process and take action according to one's own whims.



Part -1l Subjective type questions
{each question carry 05 Marks)
Sect -1 - General

Part — I A) Answer any four of the following (50 to 70 words) Each Question carry 05 Maks,

Q1 Explain the difference between renewable and non-renewable energy. Give 03 major
sources of each type.

Q2  Define Artificial Intelligence and its applications in daily life.
Q3  Advantage and Disadvantage of hydro power.

Q4 Whatis Hooke's law.

Q5 Whatis Geo Science and its importance.

Section -ll = Technical
Part —Il B) Answer any six of the following - (each question carry 05 Marks)
Q1  Explain GTS and GPS in relation with surveying.

Q2  Define free board of bridge and calculate the minimum size of RCC box required with
following data.

Width of stream in approach=4 m
Peak design flood discharge = 25 cum/sec
Velocity of flow = 2.5 m/s
Free board = 500 mm
Q3  Explain grouting and its application.
Q4  Define finess modulus ,Flakiness index and Elongation index.
Q5  Difference between Normal concrete mix and Design concrete mix.
Q6  Describe various test done on Steel reinforcement.
Q7 Difference between deep and shallow foundations.

Q8  Describe importance of curing in concrete work.



&7 - 30.10.2023 3{F:- 100

HTHYT YR TR A% (Heeeq) daa-6 & e falaa wham sifimifieh
Ty O3 B € UFT I §, YIT-1 TGS UY 25 TR & T 02 3 & AR HIT-2 ARRS T 10

AR E AP 05 3F F EId & | FH vy sifard g,

TRI&T & 3 B IR YRaeT & i vgad gt &) o1e 3 uifgul
e gfer B Hiamga / UoR/ Sagaex oS A TR B gt e R, srguT srurlf T aR g
Iuficar & e RRe & g Sad e o1 o1a 99 &1 Suh)v S =iy

IR f&dt ur sl fassdt wes vman | ferar s anfgw)

Tl +ft sramar ot Rufa o usy U & 3RS Yeau1 1 ureifores A S iR
THIME usl & IR A el +ft tpR & QuR it sigafa T 7

FWR R T IR F sfafed oo i 78 R anfzul

Q1)

Q2)

\

HIT-1 TG TBR (TAF T 02 3 F18)

e fagu fea fer s s e

A) 07 FgamR
B) 15 fidaR
C) 21 xR
D) 29 RydsR

fafafed = e o-

a) ‘Make In India’ i)2014
b) Pradhan Mantri Jan-Arogya Yojana i1)2020
¢) Khadi Agarbatti Aatmanirbhar Mission iii)2018

A) a)> i b)Diii ¢) Dii
B) a)>ii b)Diiic) i
C) a) > iii b) Dii ¢) i
B)a)>i b)-dii ¢) diii

HHY:- 03 Hr.



Q3)

Q4)

Q5)

Q6)

Q7)

D I IS & HRE F G T el ST i e 8-
Ay =

B) STaTeT

C) U

(D) BRI

"FTE el B JADT <reemeeee—- TR R HZISANN B &Y H WS WRA F P B [ FA B
g+ s Wk aiftra = R |

A) 100
B) 125
C) 145

D} 150

e SepTeH GRAR 2019 G4 =1 vt ot I 4w ) 3708} fop e U & forw wer= s mra
2

A) Great Indian Novel.

B) India Shastra.

C) An Era of the darkness.

D) India from midnight to the millennium and beyond.

To turn over a new leaf.

A) To change completely one's course of action.

B) To shift attention to new problems after having studied the old ones thoroughly.
C) To cover up one's fault by wearing new marks.

D) To change the old habits and adopt new ones,

15 HieR del Th Wit U Treafer dlar & =i 9 ugadt 81 afe i Sar @ 60° &1 o1 AT
2, A aR @B Frard gt

A)10.0m

B)7.5m



Q.8)

Q9)

Q 10}

Q11)

Q12)

) 12.0m

D) 15.0m

frufifaa ot fam 53

a) Barometer i) Very Low pressure

b) Piezometer ii) Pressure difference P between two points
c) Manometer iii) Atmospheric Pressure

d) Differential Manometer iv) Pressure in water channel

A) a)>iii b)>iv o> d)ii
B)a)>i b)Diii c)Div d)i
C) a)>iii b)Dii ¢ Ddiv d)i
B) a)>ii b)iii <) Ddiv d)i

Al BIRGIIS SUAIHR e & [y 9IS A 7arg 3 TeRTS &1 U 3 |

A)2 B)3 C)a D)s

e oo o wgga e ferg wu o ol sear g2

A) accelerator B) air entraining agent C) Plasticizer

Fepic & m20 U & fafdy Tdiss wfda g
A} 10 T / AR B) 15 T / foreii C) 20 A / forei?

NS THHRU B GABY (1) 2x-y-2 (2) x+3y=15
A) X=4 Y=3
B) X=3 Y=5
C) X=5 Y=3

D) X=3 Y=4

D) retarder

D) 25 T / fir?



Q13)

Q 14)

Q15)

Q16)

Q17)

forwm fafaf &1 yar sma

A) ST BT

B) el

C) T

D) g+t
M,PBITAEQOMPH UM S, B OIH & M, 0 A THFT UsR TR 2 2
AT

(8) G

Q)|

D) forer

HRA H Ugel! o s Tt ot 2
A) 16.4.53
B) 16.04.55

C) 16.04.63

(D} SIS | A SIS 8]

T &1 g8 o g el & & rw iRes vRisraa 2ar g

B) Acceleration B) Power C) Force D) Work done

T UgoH ugl, P dgan ©ia Pl os A saraar g, e oot afe »
A) AIYAM 9 ST 8

B) SHI TR A STTT 71T

C) YHET @1 W Yd TP < 11 71|

D) QiR

b



Q18) “YRA I dlg I3y &< Bl ofidl 87
A) it TRGR T HIE 0T
B) ¢ft w5 ieh
¢) &t ARl s
D) SWRigd H A g T

a19) 13 gy afe R gma &t srengar e o &>
A) 41 2t forftT | v
B) St Rz At
¢) dt s gfaq
p) 4t e I

Q20) 55 UHI P 1287 S 21 1Y 16 A BT BT RS2

A) 212 B) 296 C) 312 D} 412

Q21) 45 49 et S areht It & TR R TR 3 B wawr 28 T ok 7 A ¥ It Y
g gl &

B} 4950sq.cm B) 4940 sq. cm C)49305sg.cm D} 4920 sq. cm

Q22) I fEd MR 91 o 3l A9 9¢ W & T B smmm Svr R
ADETYTEE B EEWE () 9GWE  D)INEd AT HE TN

Q23) TP D& & FId B BT TR BT a9 54 fPawm, 78 fraom, 43 framm, s2 Haum 67
foclium, 42 framam ok 75 f6. 1. <5t fpa T @1 ot ol & xR T eiga ae T 22

A) 63. fap.am.

B) 69 fm 3.

&/ ”



c 211, .

D) 73 f& .

Q 24} ‘Hobson's choice’.

A} Feeling of insecurity
B) Accept or leave the offer
C) Feeling of strength

D) Excellent choice

Q25) ‘To take the bull by the horns’.

-

Q1

Q.2

Q.3
Q.4
Q.5

A) To punish a person severely for his arrogance.
B) To grapple courageously with a difficulty that lies in our way.
C) To handle it by a fierce attack.

D} To bypass the legal process and take action according to one's own whims.

YIT- || RIS U R & Uy
(T U 05 3/ B B)

s A
I A FEffET A el ar IS (50 T 70 WT) TP U B 5 3Mfdamay 3w g
Tdepeuity SR Rl el & a9 iR WP Y | Teid THR & 03 W@ Fid iforg
SERp R $eferra ok 3w oftaw & 38 sryail &1 afiufia 3

oret faggd & oy T g1
P B A gl
YRR 1 3 09 91 e
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WS- apAH!
it B) FoffEad Al oe T e (Uds Uy 05 SIBF 1R

Q1 Td&u S deY H Sidiud iR Sidiey &1 srem &3

Q.2 ?%wﬁ;@éaﬁ@nﬁaﬁﬁ%@aﬁ%muwamﬂﬁaﬁa%wm
TR

Width of stream in approach =4 m
Peak design flood discharge = 25 cum/sec
Velocity of flow = 2,5 m/s

Free board = 500 mm

Q3. TS 3R IHd SyaRT & gHIRd |

Q4  GEAd AU, RAGRAT GEPIE AR T61d Jabid B TRHTRT B3 |
Q.5 WA e Ay R fEums dwie s & fiT e |

Q6 W Yeaidur IR fg e fafirs udtemif o1 qufa &3

Q7 e AR Jyet Hid & i SR |

Q8 e e WIS aga B guF
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